
                                                                      270524B, 270524BL 

64178, 64178L  
                                                                                                    

LIMITED 90 DAY WARRANTY  

Putco guarantees it’s Stainless Steel and Aluminum products against defects in workmanship and material for as long as you 
own your vehicle.  All painted products have a 90 day warranty on the painted surface.  Any defects resulting from faulty 
material or workmanship will be warranted by Putco and repaired or replaced at our discretion.  Putco assumes no extra labor 
costs.  Damages caused by freight carriers, improper installation, misuse, collision, or neglect will not be warranted by Putco.   

11/14/2014 - JW 270524BI 

2007+ Jeep Wrangler Grille Installation Instructions 
 

Congratulations on your purchase of a high quality PUTCO product.  Should you 
need any application or technical assistance, feel free to call us at: 1-800-357-9261 

Monday-Friday 8:00 a.m. - 5:00 p.m. (Central Standard Time) 
Contact your PUTCO dealer for other quality accessories. 

Please read all instructions before installation and to check to see that all parts are included. 

 
Tools Needed: 
- 7/16" Wrench 
- 5/32" Hex Wrench 
- 5/16" Drill Bit 
- Drill 
- Flat Head Screw Driver 
- Saw- Recommended: 

Oscillating Hand Tool 
 
 

 
 
 
 
 

Grille Installation 
 

1. Remove Grille from packaging. Check to see if all parts from above table of kit contents are 
included.  

 

 
2. Remove 6 plastic retaining clips with flat 

head screw driver (locations shown 
above) by removing center rivet pin first. 

 
3. Once clips are removed, remove grille by 

pulling straight out and unhooking the 
marker lights. 

 

                               KIT CONTENTS:  

Description     Qty. 

Grille (Stainless Steel or Aluminum)        1 

1/4" - 20 x 3/4" SS bolt       20 

1/4" - 20 SS Lock Nut       20 

1/4" SS Washer       20 

Only for Lighted Grille (below)  

20" Luminix Light        1 

Wiring Harness        1 

Switch        1 

Light Bar Installation Instructions        1 



                                                                      270524B, 270524BL 

64178, 64178L  
                                                                                                    

LIMITED 90 DAY WARRANTY  

Putco guarantees it’s Stainless Steel and Aluminum products against defects in workmanship and material for as long as you 
own your vehicle.  All painted products have a 90 day warranty on the painted surface.  Any defects resulting from faulty 
material or workmanship will be warranted by Putco and repaired or replaced at our discretion.  Putco assumes no extra labor 
costs.  Damages caused by freight carriers, improper installation, misuse, collision, or neglect will not be warranted by Putco.   

11/14/2014 - JW 270524BI 

 
 
 
4. Use saw to cut inner section of grille out. Mark 3.25" from top and bottom, these will be your cut 

lines. Only inner bars will be removed. (Recommend using tape around cut line)  (white 
shaded area below). 

 

   
 
5. Place Putco grille over cut jeep grille. Align notch in top of grille with the "P" in the Jeep logo. 
 Measure grille side to side and up and down to verify it is set on the Jeep grille square. 
 Mark and drill all 20 holes around border of Putco grille. Use  5/16" drill bit.  
 
6. Bolt Putco grille to Jeep grille using 1/4"-20 hardware; washer and nut goes on back side of 
 grille. Use 7/16" wrench and 5/32" hex wrench to tighten hardware. 
 
7.  Reinstall grille shell into Jeep. Enjoy!! 
 

 
For Lighted grilles, refer to the Wiring Installation on Light Bar Installation Instructions for 

wiring instructions
 

3.25” From Top and Bottom 

Cut 


